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1 100kN/m#E#BZ % - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00 | 0.00 ~ 4.77 5940 | Zh st | 000 ~ 0.00| 1.69 8.56 zh s 1.00| 500 ~ 5.00 5940 | Zh LSt | 5.00 ~ 500 1.69 8.56
9 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00]| 000 ~ 571 7131 | Zhblist | 000 ~ 571 | 1.80 9.09 zh s 1.00| 500 ~ 6.40 7131 | Zhblist | 5.00 ~ 640 | 1.80 9.09
3 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 0.00 ~ 5.20 64.82 | #n st | 000 ~ 0.00| 1.70 8.59 zhs 1.00| 500 ~ 5.60 64.82 | Zn LSt | 5.00 ~ 560 | 1.70 8.59
4 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mEEZD -~ — - -
zh s 1.00 | 0.00 ~ 4.77 59.50 | Zh st | 000 ~ 0.00 | 1.71 8.66 zhs 1.00| 500 ~ 5.00 59.50 | #h kit | 5.00 ~ 500 1.71 8.66
5 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mEEZD -~ — - -
zh s 1.00 | 0.00 ~ 4.77 5941 | Zhblis | 000 ~ 0.00| 1.76 8.88 zhs 1.00| 500 ~ 5.00 5941 | Zhblist | 500 ~ 500 1.76 8.88
6 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 000 ~ 561 70.08 | #nlist | 000 ~ 561 | 1.86 9.39 zhs 1.00| 500 ~ 6.40 70.08 | Z#nlist | 5.00 ~ 640 | 1.86 9.39
7 100kN/m%E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mEEZD -~ — - -
zhs 1.00| 0.00 ~ 543 67.78 | #nlist | 000 ~ 543 | 1.81 9.14 zhs 1.00| 500 ~ 6.00 67.78 | #n kst | 5.00 ~ 6.00| 1.81 9.14
8 100kN/m#E#BZ % - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mEEZD -~ — - -
zh s 1.00 | 0.00 ~ 476 59.31 | ZhLlist | 000 ~ 0.00| 1.68 8.51 zhs 1.00| 500 ~ 5.00 5931 | Zhblist | 5.00 ~ 500 | 1.68 8.51
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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